THOEEFKKERERR

21

&% X 5 2l FOREE

3 K E3 A B SHOF4R 118 | SH6E5A 138 | HF646/7 188 | HF6£7AIE | $706587 148 | SFI6FIA4E | #F06£10A30 | HA06511A68 | HH6%12A28 | HH7%1A9B | $HTH2A58 | HHIFIA 18 BB BRIE E27)

X 1% BT - L8| - R 5 - /@ B -/ B - & S - B g - B BB g - B S - B i - B B - B i - B AEER

B 2 (0 19.8 20.0 17.8 29.3 33.0 33.3 25.7 20.2 19.3 13.0 11.0 15.0 33.3 11.0 21.5

K B o 16.0 20.7 23.5 26.5 28.5 27.0 26.0 20.0 16.7 11.3 10.0 13.0 28.5 10.0 19.9
1= [ bl B (L) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 LT
2|k ] & T T T T T T T T T T T T REEH 0 T
Hh FIHYLRUZOEEY mh) 0.0003 *i& 0.0003 *i#|0.0003 #[0.0003 *#| 0.003 wF
41k 8 R ¥ = o 1 & B (mg/b) 0.00005 ki 0.00005 ;% |0.00005 3% |0.00005 si#| 0.0005 WT
5t L v R U 2ok E W /b 0.001 % 0.001 | 0.001 =#| 0.001 *& 0.01 WF
6l B U 2 o £ & B m/) 0.001 % 0.001 | 0.001 =#| 0.001 *& 0.01 WF
e £ U 2 0 & & B (gL 0.001 % 0.001 | 0.001 s#| 0.001 *& 0.01 WF
glx @ 4 o L & & Hm m/) 0.002 *i 0.002 *i| 0.002 | 0.002 *& 0.02 WF
ol W B B T £ m 0.004 *i 0.004 | 0.004 | 0.004 *& 0.04 WF
07U+ RUEEEST Y mg/h) 0.001 % 0.001 i 0.001 *i 0.001 | 0.001 | 0.001 *&| 0.001 =& 0.01 WF
NWBEZERUVEMBEEE m/b 1.44 1.44 1.40 1.40 1.43 1.44 1.40 1.42 10 uF
1217 vy F R U 2 0 k& B gL 0.05 % 0.05 *#| 0.05 ®&| 005 % 0.8 WF
1B % 2 R ¥ 2 0ka& P mh 0.02 % 0.02 s#| 0.02 ®&| 002 % 1.0 uF
14 i 1t 3 *  (mg/L) 0.0002 i& 0.0002 :#]0.0002 si[0.0002 s*i# 0.002 uF
15]1 4 - T+ F 4 U (mg/l) 0.005 i 0.005 si&| 0.005 ski&| 0.005 =i 0.05 LT
16y 2 LT 70072 RY ) 0.0002 0.0002 *3(0.0002 *3#(0.0002 *#|  0.04 wT
171> & =] =] b 4 v (mg/L) 0.0002 i& 0.0002 :#]0.0002 si[0.0002 s*i# 0.02 LT
18] + 5 4 m n T F L ¥ (ml) 0.0002 i& 0.0002 :#]0.0002 =i [0.0002 s*i# 0.01 LF
9| vy 4 B B T F L ¥ mW 0.0002 i& 0.0002 =:#]0.0002 si[0.0002 si# 0.01 uF
20|~ P + v (mg/L) 0.0002 i& 0.0002 :#]0.0002 si[0.0002 s*i# 0.01 uF
21| * B (mg/L) 0.06 si# 0.06 si# 0.06 il 0.06 sk#| 0.06 =i| 0.06 * &| 0.06 *i 0.6 WF
22| =) =] B B (mg/L) 0.002 i 0.002 i 0.002 i 0.002 i) 0.002 s | 0.002 | 0.002 i 0.02 LT
23| =] =] 7+ 1% L (mg/L) 0.001 i 0.001 i 0.001 i 0.001 i) 0.001 sk | 0.001 si&| 0.001 i 0.06 LT
24| 4 =] =] B B (mg/L) 0.003 i 0.003 i 0.003 i 0.003 i) 0.003 k| 0.003 si&| 0.003 i 0.03 uF
25| 7 | ® 4 B oo A & v (mg/l) 0.001 =i 0.001 i 0.001 i 0.001 i) 0.001 k| 0.001 si&| 0.001 i 0.1 WF
26|82 * B (mg/L) 0.001 =i 0.001 =i 0.001 i 0.001 | 0.001 si#&| 0.001 =i&| 0.001 i 0.01 LF
271 U oo B A & U (mg/l) 0.001 =i 0.001 i 0.001 i 0.001 | 0.001 si#&| 0.001 =i&| 0.001 i 0.1 WF
28| Y v n o & B (mg/L) 0.003 i 0.003 i 0.003 i 0.003 | 0.003 si#| 0.003 si| 0.003 it 0.03 LT
29|17 B ¥ 9 o @ A 4 v (gl 0.001 =i 0.001 i 0.001 i 0.001 | 0.001 si#&| 0.001 =i&| 0.001 i 0.03 LT
30|27 =] E 7+ 1% L (mg/L) 0.001 =i 0.001 i 0.001 i 0.001 si#&| 0.001 si#&| 0.001 =i&| 0.001 i 0.09 LT
31 L L 7 L F E F  (mg/l) 0.008 it 0.008 i 0.008 i 0.008 i) 0.008 s i| 0.008 x| 0.008 it 0.08 LT
N)E B R ¥ £ 0 & & B (/L) 0.01 i 0.01 s#&| 0.01 *&| 0.01 % 1.0 WF
BI7 L= LRV ZDIEEY Mg/l 0.02 i 0.02 s*#&| 0.02 *&| 0.02 % 0.2 WF
M R ¥ £ o k£ A& B (mg/l) 0.03 s#| 0.03 *i& 0.03 s#| 0.03 *#&| 0.03 *i 0.3 WF
3|8 R ¥ ¥ o k£ & B (mg/l) 0.01 i 0.01 s#&| 0.01 *&| 0.01 % 1 UF
36|l P D LRUTZDIEEY Mg/l 7.9 7.9 7.9 7.9 200 WF
I v ARV ETDOIEEH (/L) 0.005 =i 0.005 | 0.005 si&| 0.005 =i 0.05 LT
38|& (4 k2 A * > (mg/L) 3.9 3.8 3.8 3.9 3.9 3.8 3.8 3.8 3.8 3.8 3.8 3.9 3.9 3.8 3.8 200 WF
AL L -2 TRV LE (BE) (mg/L) 82 82 82 80 80 82 80 81 300 WF
40]% E % 3  (mg/L) 141 136 141 146 133 146 133 139 500 WF
4l 4 A v R @ OF A (mg/L) 0.02 *i& 0.02 *#&| 0.02 *&| 0.02 *i& 0.2 WF
421> T *+ 2 S > (mg/L) 0.000001 & 0.000001 & [0.000001 & |0.000001 i&| 0.00001 LIF
3|2 — A F LA VAKRLFF =L (mg/l) 0.000001 & 0.000001 & [0.000001 k3% [0.000001 3| 0.00001 LT
441 4 A v R @ F A (mg/L) 0.002 *i#& 0.002 | 0.002 si&| 0.002 =i 0.02 LT
45|12 T % — 1% B (mg/L) 0.0005 =& 0.0005 =i#]0.0005 =i [0.0005 si# 0.005 WF
46|HHY (2E®REER (TOC) D)  (mg/) 0.2 x#| 0.2 x&| 0.2 *x&| 0.2 x&| 02 *#| 02 x&| 0.2 & 0.2 x&) 0.2 x#[ 0.2 *x&| 02 x&| 02 8] 02 x#| 0.2 & 0.2 %& 3 uF
47| p H & 7.8 8.0 8.0 1.1 8.0 8.0 7.9 7.8 7.9 7.6 7.6 7.6 8.0 7.6 7.8 5.8~8.6
48 K RELL RELL RELL RELL RELL REBL BEHL BELL BEHL REHL BEHL REBL EREH 0 BEHL
49]= S RELL RELL REGL RELL RELL REBL BEHL BELL RELL REEL BEHL REBL EREH 0 BEHL
50|& 54 [(=3) 0.5 F#| 0.5 x& 0.5 *i 0.5 X 0.5 *i#| 0.5 *i 0.5 *#&| 0.5 & 0.5 *i 0.5 =i 0.5 *i#| 0.5 *i 0.5 % 0.5 =i 0.5 =i 5 uUF
51|48 4 (FE) 0.1 *&| 0.1 %& 0.1 *#& 0.1 % 0.1 *#&| 0.1 *i& 0.1 *&| 0.1 *& 0.1 % 0.1 =i 0.1 *#&| 0.1 *i& 0.1 % 0.1 =& 0.1 =i 2 UF

% z i *  (mg/L) 0.36 0. 41 0.33 0.34 0.29 0.43 0.35 0.39 0.41 0.38 0.42 0.36 0.43 0.29 0.37 0.1 bt

H5E BE EE BE BE B BE B BE B BE BE S

21EDRER



